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Answer Five (05) Questions only, selecting at least

two (02) from part | and at least one (01) from part 1.

PART I

(01)  Symbolize the following arguments giving your scheme of abbreviation and show them to
be valid by the method of derivation.

(i) Either Plato or Aristotle is an idealist. If Aristotle is an idealist then Socrates is an
atheistic. Socrates is not an atheistic. Therefore, Plato is an idealist.

(ii)  If the cost of living goes down then both president and prime minister will be
accepted by the public. If either president or minister of finance will be accepted by
the public then prime minster will not be accepted by the public. Therefore, if the
cost of living goes down then the struggle will come to an end.

(i)  Itis not the case that if Sri Lanka will give the permission to China ship then India
will declare the war against Sri Lanka. India will declare the war against Sri Lanka.
Therefore America will support India.

(iv)  If either Aristacus or Copernicus is correct then earth rotates around the sun.
Therefore, if the carth does not rotate around the sun then both Aristacus and
Copernicus are not correct.

(04x5=20 Marks)
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(02)

(03)

(04)

Prove the following theorems by the method of derivation.

)

iii)

[(~P— Q) < (~Q—P)] i)  [(Pv~P)vQ]
[(PAQ)— R] — [P —=(Q—R)] iv) {~Q—[PVvQ)<P]}
(05x4=20 Marks)

Symbolize the following arguments giving vour scheme of abbreviation and test them for
the validity by the method of indirect truth table.

i)

If and only if IMF will agree to make restructures to the Sri Lankan foreign loans,
Sri Lanka will find the solutions for the current economical issues. Only if Sri
Lanka will increase the tax then IMF will agree to make restructures to the Sri
Lankan foreign loans. Either Sri Lanka will not increase the tax or Sri Lanka will
not find the solutions for the current economical issues. Therefore, Sri Lanka will
have a parliament election at the end of 2022.

If A is clever than B then B is clever than C. C is not clever than D but D is not
clever than A. Therefore. either D is clever than B or B is clever than D.

Logic is both interesting and valuable subject. Although Logic is interesting it is
difficult for some students. Therefore, either Logic is valuable subject or difficult
subject for some students.

_If the universe is created then it has a beginning. If the universe has a beginning
then it has an end. Either universe is created or it has an end. Therefore If the
universe is not created then it has no an end.

(04x5=20 Marks)

Symbolize the following arguments giving your scheme of abbreviation in terms of
classes and test them for the validity using Venn diagrams.

1)

ii)

iif)

v)

All boys are tall. All tall ones are handsome. Therefore, all handsome ones are
boys.

Some countries are rich. All countries are industrial countries. Therefore, some
industrial countries are rich.

All philosopher are critical thinkers. He is not a critical thinker. Therefore, he is
not a philosopher.

Some are tall. Some are short. Therefore, all tall things are short.
(04x5=20 Marks)
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(05)

(06)

07)

Write short notes on any four of the following.

Deductive and Inductive Inference.
Two fold logic and Multi-fold logic
Class product and class sum.
Strong and weak arguments.
Direct and Indirect Derivation.
Propositions and Sentences.
(04x5=20 Marks)

PART 11

a) State Karl Popper’s demarcation criterion between scientific and non-scientific

statements. (05 Marks)
b) Explain the difference between following sciences with examples.
i) Pure and Applied Sciences.
ii) Formal and Normative sciences.
i) Natural and Social Sciences.

(03x5=15 Marks)
a) Critically examine the deductive falsificationism.

(10 Marks)

b) Compare and Contrast between Thomas Kuhn and Paul Feyerabend views relating

to relativism of scientific method.
(10 Marks)

P.T.O.




(08)

(09)

(10)

a)

b)

b)

Define and give an example for a crucial scientific test.

(08 Marks)
“A scientific test is based on a hypothesis™. Explain with examples.
(12 Marks)
What does mean by the “Deviation™ in statistics.
(05 Marks)

Explain the difference between “Arithmetic mean™ and “Weighted mean™ with
examples.

(15 Marks)

Write notes on any four of followings:

i)
ii)
1ii)

1v)

vi)

Rules of J.S. Mill

_Stratified sampling

Explanatory Hypothesis
Theories and laws

Role of measurement in scientific method
Mutually exclusive Events.
(05x4=20 Marks)
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